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Slejeorsen (1) Svarsg lamss@Epd sHlurs oFsl udleurdl o erersm

ererugsenen sflumisgis Csmearera . FHUILSND GanuT(h
@mulber oens Samsrantlurerii o L ergurss
Qg Mel&seLb.

2) Beod g s@mLY owulmer LLHGCWL 6T (WPgieusMHELw
95CHTIEHeusnHGL LweaTu®hdSS Geuem(Hd. LILMHBI&ET
auereugm@ Cueandle Lwetu(hHss Couemr(Hib.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.
GO : Qeuelamgsmer BrewE LG smend CararTLg).

Note : This question paper contains four Parts.
L@&S - I/PART - I

GlLY : (i) wesg Namss@EpsEh alenL wefldseb. 14x1=14
i) Gar@éssuulL presmg alamLsafled Wsa|b gnLmLw elenL_uiener
CambOsBss @GN HLer e ulenaryd Carggl er(pse,Lb.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. Yerorpegs sré&Swusnars Latarml(hé srssSalmbg CleualGumbmiii’ L
BT :
(o) Ogiwadl (<) peiguim (@) @ssrad  (w) Syrens

The country which was expelled from the League of Nations for attacking Finland :

(a) Germany (b) Russia (c) Italy (d) France

2.  oQwfss uki@sbmssaid PP QUG IPFS erhLIl L BIeT :
(1) 24 &CLmTuT 1929 (=) 14 &CLmur 1929
(@) 24 meubur 1925 (FF) 24 meubuim 1928
In America, the first huge Stock Market Crash occurred on :

(@) 24 October 1929 (b) 14 October 1929

() 24 November 1925 (d) 24 November 1928

3.  eflCarm Quisssdler wrprige @b GrHildurs sobg Csramr e :

(=1) ereousgT Frevdlil (<) Gordlooredr Crm

(@) myeuamiemed Crm (/F)  eueveouml L Gred

In the Non-Aligned Movement Conference participated as the Indian
representative.

(a) Lal Bahadur Shastri (b) Motilal Nehru

() Jawaharlal Nehru (d) Vallabhbhai Patel

4. 2L aslol gnge (58) @Ulssiul L e :
(1) 1827 (<24) 1829 (@) 1826 (/) 1927

Sati was abolished in the year :

(a) 1827 (b) 1829 () 1826 d) 1927
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gpml :  Wfligey ors 1857 -, b Y amger Herrdflenws @ HDLSSTD
QaTeanT(h LSS g
SMI6seTd : LW LILRSSUULL  Hlifeursid QoTssme Slerrgsl
CameveilienL_bSg!.
(=) smpmi, srrewTd @rearhGw Seum
(<) sabm Seiml, STrewrd Fil
(@) smom HmID sTrewTd @remHiGL &, CaD STFewTD FnmidsTenr Filwmer
eNlET&HS DTG LD.
(FF) Sabm LOOMID STFERTD &Fifl, Y emTed STFenTd Fmpmisasrer Filwmer edlerésLd
©@cvrene.
Assertion (A) : The Revolt of 1857 was brutally suppressed by the British Army.
Reason (R) : The failure of the rebellion was due to the absence of central authority.
(a) Both (A) and (R) are wrong.
b) (A) is wrong and (R) is correct.

(
(c) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(d) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

QUTHS S5

(1) smbue Yrlé i Ll
(2) Geudreflls Yyl &l i) @enss
(3)  Seulyd Yyl (i) Ggmed
(4) u@uqu L& (iv) o pmger
(1) (W)-(iid), (2)-(), (3)-(iv), (4)-(i)

(=) (1 2)-(iti), (3)-(1), (4)-(i)

(@) (2)-(i), (3)-(i), (4)-(iii)

() ( (2)-(iV)/ (3)-(1), (4)-(iid)

Match the following :

(1) Grey Revolution (i) Egg

(2) Silver Revolution (i) Meat

(3) Red Revolution (iii) Leather
(4) Brown Revolution (iv) Fertilizers
(@) (D-(itd), (2)-0), (3)-(v), (4)-(iD)

(b)  (D)-(v), (2)-(iti), (3)-(1), (4)-(i1)

©  (D-Gv), )-60), (), (@)

(d)  (D-(D), 2)-(v), 3)-(0), (4)-(iid)

[ Hpliys / Turn over
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7. Cuhssdu @enLuymisermed weplpll Gureneals Cumid L@d

(=1) slpBTH (<) Gayparm
(@) ueEparl () wsHw 9rGseb
Western disturbances cause rainfall in :
(@) Tamil Nadu (b) Kerala
() Punjab (d) Madhya Pradesh

8. LDTRIGEIS -0 Lweru(HEDg).
(<) W6 HLGTEHET (=) SlQwesr swmrliLy
(@) Q&b 2 (BEEGH® (FF) QuiGpredlwu &sHlatiy
Manganese is used in :
(a) Batteries (b) Cement Manufacturing
(c) Copper Smelting (d) Petroleum Refining

9. @ndwureier s wEsET FTens GETamL rble :

(=4) &8s (<) Sl&&I0
(&) 28dlru ArGgew () sUlppTE
The state which has highest population in India :
(a) Gujarat (b)  Sikkim
(c) Uttar Pradesh (d) Tamil Nadu
10. @nHlurelile slpBHTH 2 HuSHud® @rearrmbd @b eudlsHng).
(<=1) sma (=) Coulilaa (8) smby () umss
In India, Tamil Nadu ranks second in production.

(@) Coffee (b) Tea (c) Sugarcane (d) Cotton



11.

12.

13.
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< mdHCar - @pdwer eu@libarfallmbg o Wrdbldeaw s bamsSHne
Bludliinedr

(=) ERWrs sl (<) @B

(@) WpsemwssT (FF) &L LDGIMm SLIMBIWST

One representative of the Anglo-Indian Community to the State Legislative Assembly
is nominated by

(@) The President (b) The Governor
(c)  The Chief Minister (d) The Speaker of State Legislature

& W&TeT Team&ECHT(H BTh&Eh&E Qe G 2 6Ter 6rebene

A, GLD.

(<) uinor - @pHur (<) @S - Seon

(@) @bSlur - urdlevgmen () @bSlur - Crumerd
Mc-Mahon Line is a border line between

(a) Burma - India (b) India - China

(c) India - Pakistan (d) India - Nepal

Qs 2 MHrL(h 2 HUSSH QSTLTILTET SEUDTET FmDHenmd ST _HweLb.
(=) Qumrmermsry auerrdsl unMH DHG CEmerers LweTUHE DG

(<=1,) uewreigsd LHMD LewTeuT L gHer fésosar LHH Ml 2 Fa|dng.
(@) Qumrmlsafler srsms jereldll Lt LwaTLOE DS

(F) eumii@b SHpevar wHIEH Qe 2 adpg.

Find the incorrect statement.

Importance of GDP.

(a) Used to study the Economic Growth.

b

(b)
(c)
(

d) Used to estimate the purchase power.

Used to solve problems of inflation and deflation.

Used to measure the quality of goods.

[ Hpliys / Turn over
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14. opplu Qsreueant Cooramang s b GQEram( eurliil L 6T :
(1) 1999 (<2p) 2019 (@) 1992 (7)) 2005

Foreign Exchange Management Act was passed in the year :

@) 1999 (b) 2019 (©) 1992 (d) 2005

U@ - II/PART - II

SO : eTemeuCuienid LISGG lammésErdE e wealldsea|b. eflearm eraum. 28-&
SL_L_muwng el wefl&sab. 10x2=20

Note : Answer any ten questions. Question No. 28 is compulsory.

15. ugihEd GWLGUTT weap GhsSe Bhiser oidbstserear ?

What do you know about Trench Warfare ?

16. UMEnETUSSETITEHET T SLENDSET WTenel ?

What were the duties of the Palayakkarars ?

17. eaurfle Qi deratengullen gt uiled Gfligey orsle Qenanmsgis
QamarerULl L L@dlgener UL Iqwied(Hs.

Name the territories annexed by the British under the “Doctrine of Lapse”.

18. Qummerrsmy GuBLBSDL @bHw Geuerreammenouler W r&SMmEL STESEMS
TOLUGSELE 2

How did “Great Depression”” impact the Indian Agriculture ?

19. @nSureler allhgeme CumyT LSSl ojemelClLFerqer Lkt wrg ?

What was the contribution of Annie Besant to India’s freedom struggle ?



20.

21.

22.

23.

24.

25.

26.

27.

28.

7 4976

Caumuphsais : Cone sLhsamrs swbleafl, fpsE sLpsamrs Fobleef

Distinguish between : Western Coastal Plains and the Eastern Coastal Plains.

@ndlwrefer sroblanasamer LITEHSELD SrranilseT wranel ?

List the factors affecting climate of India.

LWI&@ (P& aumasilena enoild WemelfaeneT erelelmm er&Ffsdng ?

Before cyclone, how does the Meteorological Department warn the fishermen ?

sOlppriiger W Hwu uCrréEgs HiLmsalear CUwLTsaT gCgenbd
BTESHenETs Snmis.

Name any four important multipurpose projects of Tamil Nadu.

o wir BwermsHern sasGs o flu fHouemruenn srrmiger wrene ?

What is the original jurisdiction of the High Court ?

Lgrsde Qamerenssamart Ll iqwiedhHs.

List the guiding principles of Panchsheel.

SOIPBTL g eleTer oarl’ | §&858 S L B&6T eraneuCuia)d Brendler OlLiweny
T(PSIS.

Write any four names of Nutrition Programmes in Tamil Nadu.

SOIPHTLIged CFTAIE WTHEl6n F&H0&H6T WTeneu?

What are the problems of Industrialisation in Tamil Nadu ?

Lig&sLl(H wen Geuermamenn LM Fm GOILIL euenrs.

Write a short note on ‘“Terrace Farming’.

[ Hpliys / Turn over
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U@ - II/PART - III

@Ml : stemeuCuenid LSF aTTésEnsE ellenLwalldgeyb. elerm erear. 42-6@,
SL_L_mwong eflenL wefldsey L. 10x5=50

Note : Answer any ten questions. Question No. 42 is compulsory.

29. W 2 sl CUTmESTET (PSS STrewThIGemeT 6dleurdléseaL.

Discuss the main causes of the First World War.

30. @uewrLmb 2 sl Gumfler eflenere|Fer wWreneu ?

What are the effects of World War II ?

31. Guawseier Guburiigha@ 19-b Eroprar® s msseaurdaer <,nmw
Lemll&eT GNSSH @ SL(HenT eUENTS.

Write an essay on the role played by the 19t Century reformers towards the cause of
women.

32. Geugyrfley 1806 -e» Cleuigss LirSullem smmsaner cdlemd:@s.

Account for the outbreak of Vellore Revolt in 1806.

33. sPBETLige &Gs58 QUGS ereueurm erdliCsmeareriiiilL g ?

Discuss the response to Swadeshi Movement in Tamil Nadu.



34.

35.

36.

37.

38.

39.

40.
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UL &@ weasalar (Guubame) o G fleysmeryd, iser P& Elwggieln
upMyo eleufése.

Explain the Divisions of Northern Mountains and its importance to India.

@QBSu war aumsseT gCab ghdlameans GOILGAL(H, wearranflen L ser
LHmIL el umMl edleuféseyLb.

State any five types of soil in India and explain its characteristics and distribution.

SWOIPBTLigen CariL Gealerreamenn UMM 6bleTéEs.

Explain the plantation farming of Tamil Nadu.

@pHw sirflweewliber ApLiLs smsmer 6Sle6TdHEs.

Explain the salient features of the Constitution of India.

QrHu Guurss sooaflar sl wean womb B AHsTrrisaer
deuf&sab.

Describe the Executive and Judicial powers of the President of India.

BT eu@brasams sansdl(Heusn@ Csrryenw uoGaum &HmEgsamer
deuf&sab.

Explain various terms associated with measuring of National Income.

@\ Crirps wHmb @\ wermps cutlgamer allerd@s.

Explain any two direct and two indirect taxes.

[ Hpliys / Turn over
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@Il : urfemeuwdD WwreaTelfser srosGsr( wHmb euamruLgde weannGu
Blspeysamerd @LBismeruid GHUAL(HE sTL(Heush@ UdHors
Sjaupenn umPlw GOILLsET Kb er(pg Ceam(HLbd.

Note : Blind candidates have to write only notes for the questions related to Time Line
Chart and Map.

41. Spssrauaaundn@ STECETH euamnTs.
1910 g 1940 auenpuleorer @b Csslu QusEs eugeormdlenr P& w
Hlapeyser gCaeabd mpdlanar eT(pgis ?

Draw a Time Line for any five historical events of Indian National Movement from
1910 to 1940.

42. Spssramid QL mismer @QBHW UL GDlEsa|b.
() Ceugrpewrwid (i) egrewdl (i) wgFTeL (iv) MQTElLGTEITOTLITS
(v) uwbumd
In the given India Map mark the following places :
(i) Vedaranyam  (ii) Jhansi (iii) Madras (iv) Jallianwalabagh

(v) Bombay
L@&3| - IV/PART - IV
@My :  eeumd ellemdsErdd alenlwefl&Esey . 2x8=16
Note : Answer the following questions.

43. () sWOPBriigeenw Feps WLIHDBSERSE m.Cleu.gr. Guflwrfer
ey wHUSEH QFwe.
S|V
(<) srpdlugsefler #Lomilil] Qusssans LD elleuflsseyLb.

(a) Estimate Periyar E.V.R’s decisive contribution to the social transformation of
Tamil Nadu.

OR
(b) Explain Gandhiji’s Civil Disobedience Movement.



11 4976
@Oy : uTTemeuwdHy wreaTeliser euarUL GeTLIyen LW 6SerTss@nhs s
GDILILSET WL (DD 6T(LPS@LD.

Note : Blind candidates have to write only notes for the questions related to Map.

44. () Qarhssuul(Herer QbHw cueprLLFH SpsTamibd @)L Bisamars
&DSHa|LD.
(i) <Yreuel wemaghlsmir
(i) euaTL e ewr rewTlL(HD LGS eemm
(iii) LOEOUTT SLDHEMF
(iv) QsearGuon@ u@meuds sTHN eIHbD Heang
v) <=dls wep Cumibd LG
(vi) Hlessfl deaLsgb GLLb
(i) wasanisd) Weps @A wrhlen
(vii)) s&ETanT L0l
S|V G
(=) QarhssiulHearer SWOPHTH cuearuLSHed Spsramibd @)L Bismerd
&DSHa|LD.
() @aums o
(i) &mbY edleneTuybd LGS
(i) STEHFYTLD
(iv) CuLEm iemewr
(V) Br&sUUL gD
(Vi) <& LDENEL
(vi)) SIPHTLIger WmerblaevL i

(viii) Gop@ CsrLTEs eneser

[ HpLiys / Turn over
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(a) Mark the following places on the given Outline Map of India.
i)  Aravalli Range
ii)  Alluvial soil region one
iii) Malabar Coast
iv) Direction of South West Monsoon
v) Heavy rainfall region
vi) Any one coal mining place
vii) Most densely populated state in India
viii) Deccan plateau
OR
(b) Mark the following places on the given Map of Tamil Nadu.
i)  River Vaigai
ii) Sugarcane growing area
iii) Kanchipuram
iv) Mettur dam
v) Nagapattinam
vi) Anai Malai
vii) Manchester of Tamil Nadu

viii) Coromandel Coast

-000-



No. of Printed Pages : 12 4977

Register Number

Part - I11

oY 2eFdai0 / SOCIAL SCIENCE

(B0 $5290520 faofjix aPP0e855520 / Telugu & English Version)

RSO0IIS0 : 3.00 (Foeo0 | [rf&‘% SFBo0 : 100

Time Allowed : 3.00 Hours ]

BeShen ¢

1)

(2)

Instructions : (1)

11008

Note

{8 :

Note :

(2)

[ Maximum Marks : 100

(DE,DIBE S(SEB0 DO E9,T° &R BIEIS0. S| DO §25es
E333,07,650 (10 DTREEINE BT 0I0S0.

DA $09030 05 S Basomeds Aeo Soe Sevsy sort doe
SPBR0 GDBIA0H0E. DBDEPOSD PGS GDABIA0H0E.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

S () HOES® Teentd griiknen ET2)00.

This question paper contains four parts.

gro -1/ PART - I

(i) o DD Jrerdo axxes. 14x1=14

(i) 2YS Trenid (HEvgEmairefod Ty KBHTPAN JoHE Ko HON 8BS
&5 8850 HoobSs &gl TeoDod.

(i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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DTOE P & B1VoWD P TPTeerd JWE 0D aLPRBoBES B0 :

(@) et (b) 8axg () =&d d @S
The country which was expelled from the League of Nations for attacking Finland :

(a) Germany (b) Russia (c) Italy (d) France

wBSE’, FE Lr5)ES 0B g8 DKo PeVHHHY
(@) 24 o885, 1929 (b) 14 o8, 1929

() 24 $%oxb, 1925 (d) 24 o8, 1928

In America, the first huge Stock Market Crash occurred on :

(a) 24 October 1929 (b) 14 October 1929

(c) 24 November 1925 (d) 24 November 1928

0dIP g0 SEns® GPEERI0 (HAIG™ FETH.

(a) oS aFeErs R (b) Ire8erS JHoe

(€) 2556erd I (d) SpFrdd &S

In the Non-Aligned Movement Conference participated as the Indian
representative.

(a) Lal Bahadur Shastri (b) Motilal Nehru

(c) Jawaharlal Nehru (d) Vallabhbhai Patel

08 8% Babdd HodS B0
(a) 1827 (b) 1829 (c) 1826 (d) 1927
Sati was abolished in the year :

(a) 1827 (b) 1829 (c) 1826 (d) 1927
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QGHo (A) 1 1857 o8 BduiHeren AR g0 Erdore wedichados.
80 (R) : 'sso@ée)éé VHSE 0P B0y BBDerEn DHOF0E.

@) A) 8w (R)Bo&r 3050

(b) (A) $Bse 8 (R) $Bod.

©)  (A) 855 (R) Bokre KBS 805 (R) 938 (A) & 8BS DSes.

(d) (A) 508050 (R) Bo&kr $BED =0 (R) 038 (A) & $BS DHBes 0.

Assertion (A) : The Revolt of 1857 was brutally suppressed by the British Army.
Reason (R) : The failure of the rebellion was due to the absence of central authority.
(a) Both (A) and (R) are wrong.

(b) (A) is wrong and (R) is correct.

(c) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(d) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

OMD A &éé@o& :

1) @ 6IerS ()
(2) 2exb 8BTS (i) Srodo
(3) BE BFHergdS (i) &den
4) (B OD0rHS (iv) dBoHen
a)  (D-(iii), (2)-(3), (3)-(iv), (4)-(i)

3)-(1), (4)-(id

(

(

(b)  (1)-(iv), (2)-(iii), ( )
(©  (D-@v), (2)-(1), B)-(i), (4)-(iii)
(d)  @D)-(D), (2)-@v), 3)-(), (4)-(iii)
Match the following :

(1) Grey Revolution (i Egg

(2) Silver Revolution (i) Meat

(3) Red Revolution (iii) Leather
(4) Brown Revolution (iv) Fertilizers
(@)  ()-(id), -() @)-v), @-()

(b)  (1)-(iv), (2)-(ii), (3)-(0), (@)-(i)

©  ()-Gv), 2)-6), (), (@)

(@) ()-(), Q-v), B)-), (@-(i)

[ Turn over
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10.

a8 été@f’@@% Western disturbances 50890 :

(a) SWFT (b) B

(c) SHoerd (d) SoggHas
Western disturbances cause rainfall in :

(a) Tamil Nadu (b) Kerala

() Punjab (d) Madhya Pradesh

LoD HJSE &HBrA0SHE0d

(a) ergeaden (b) 0o S5

(c) %8 YQoh (d) PO 8A0R
Manganese is used in :

(a) Batteries (b) Cement Manufacturing
(c) Copper Smelting (d) Petroleum Refining

FEEBI0S® wEHY aTrge SOAS oo

(a) oxoE (b) 8o

() &85 H3S (d) S

The state which has highest population in India :

(a) Gujarat (b)  Sikkim

(c) Uttar Pradesh (d) Tamil Nadu

ePBEET oS’ f%e‘éo)@;@s BQFre Bokd 5;26068 &od.

(@) =5 (b) BSrsH () B8 d) 58
In India, Tamil Nadu ranks second in production.

(a) Coffee (b) Tea (c) Sugarcane (d) Cotton



11.

12.

13.
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SO -80BHS S5m0 K0 a8 (H8G oo BRRBS ©20d8 B OIS
HTK.

(a) ToES (b) K550

(c) Loomgiool® (d) ool BRRSE 986

One representative of the Anglo-Indian Community to the State Legislative Assembly
is nominated by

(@) The President (b) The Governor

() The Chief Minister (d) The Speaker of State Legislature
DE-I*HeS Ty 93O DS Bty BB B2.

(a) @O - grEERIo (b) &r8SBI0 - B

() arB8GE0 ~ PELS (d) rESEE0 - IPS

Mc-Mahon Line is a border line between .

(a) Burma - India (b) India - China

(c) India - Pakistan (d) India - Nepal

I<lol=i) a‘°§sp§:63 EoRPK508.

GDP Go8) (&850,

(a) ©08 HAV wggabHo BR0HE SOBPACSEE .

(b) @5585633830, @@@Seée%)sao Do HOTYTIE SHBrA0BREIEOR.
(€) P T SOVoHD GHAPACSDEEH0E.

d) Eoflen 38 wolSar 10D GITPACSDEE0E.

Find the incorrect statement.

Importance of GDP.

(a) Used to study the Economic Growth.

(b)  Used to solve problems of inflation and deflation.
(c) Used to measure the quality of goods.
(

d) Used to estimate the purchase power.

[ Turn over



4977

14.

K58 1 JIQ B8 Dot Jdrgrdo adod. (©F) Sogy 28 SZIIL.

Note

15.

16.

17.

18.

19.

20.

QR L8 (B350 e €0 &s A0S eRrhoSwER !
(@) 1999 (b) 2019 () 1992
Foreign Exchange Management Act was passed in the year :

@) 1999 (b) 2019 (©) 1992

griio - II/PART - II

: Answer any ten questions. Question No. 28 is compulsory.

(BoS 508 80D D% Do Benddd ?

What do you know about Trench Warfare ?

FOIPEEE) DeHen dod ?

What were the duties of the Palayakkarars ?

‘EBonS &P oy 8ol (AR B FB0 VOB (Frosre D) BOADECHOE.

(d)

(d)

2005

2005

Name the territories annexed by the British under the “Doctrine of Lapse”.

“Qos5E @gé &3°0L50” ePSERA%H éegé@dﬁﬁﬁ& dere (HgrdB0 Bod ?

How did “Great Depression” impact the Indian Agriculture ?

GPEEEE ol oeer0s @ HRoes FE Do ?

What was the contribution of Annie Besant to India’s freedom struggle ?

Boren BOCHREDHOE : HB)KH BF Dorraren KOG &P 88 Jowearen.

Distinguish between : Western Coastal Plains and the Eastern Coastal Plains.

10x2=20



21.

22.

23.

24.

25.

26.

27.

28.
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ePESBI0S® %éeog?g@@ (Herddo Fo wozed rdacre TeoHod.

List the factors affecting climate of India.

0B Hotorr Trerddes DKo ePoXHo @ Jore TeHogod ?

Before cyclone, how does the Meteorological Department warn the fishermen ?

SDYHER DBV Trenth SwagRdd e IS (EHe D BOHEDOE.

Name any four important multipurpose projects of Tamil Nadu.

38 Gg) TGS 008 (smsBRAES) Dol ?

What is the original jurisdiction of the High Court ?

Hosde TE) BeBBE Sm(EeB0d ?

List the guiding principles of Panchsheel.

EDWFTDER) HFT Trenid VLB SEYBIre DL TDhod.

Write any four names of Nutrition Programmes in Tamil Nadu.

SDYTHS® F0(5eendssen B KBS ?

What are the problems of Industrialisation in Tamil Nadu ?

‘BRBS Frdvoly (3)3@ &%) D 0w a5y o°aHod.

Write a short note on ‘“Terrace Farming’.

[ Turn over
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grio - III/PART - III

B8 1 DI B0 BHoH ISrrdo aes. (Y Sogy 42 SHNSL. 10x5=50

Note : Answer any ten questions. Question No. 42 is compulsory.

29. B (HHoS Oiwa(;@é e se8ero S8)osodk.

Discuss the main causes of the First World War.

30. Bo&t @’)o"aoédﬁmgo $OBod ?

What are the effects of World War II ?

31. HdrFe 6HBE Koxofod 198 %@”88058 hexn 3?63?9?6& Do)Beaen DER0NS PSR

a"?g‘(\’)o o0&,

Write an essay on the role played by the 19t Century reformers towards the cause of
women.

32. 1806 o*d Joedy &BMHeren MHB80D) TPAnod.

Account for the outbreak of Vellore Revolt in 1806.

33. SPFRHS 653% t%tﬁegaﬁao 60306526 00 z‘ﬁ%oiﬁo&.

Discuss the response to Swadeshi Movement in Tamil Nadu.

34, &I0°0 D8O JgPrre HO0N SO PESEI8 o @°z;°?6?go 080D DHBoPoR.

Explain the Divisions of Northern Mountains and its importance to India.



35.

36.

37.

38.

39.

40.
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ePESBI0STY DI 0 Ere oo BOCHEGH0E HOWM T gD, HoDB
&% DHB0PS-.

State any five types of soil in India and explain its characteristics and distribution.

SEDFIE @) PoBHRS JH 980 HBOBO&.

Explain the plantation farming of Tamil Nadu.

EoRlo)a) O‘%fgoﬁo cﬁ:oégr Eéaagpé c‘D%cgéeJa 809 JHBoS0&.

Explain the salient features of the Constitution of India.

B8 m@oﬁ@ @Dé& S°6§§00‘°555°é 0B agoﬁavéswm %809 BOSHECHOA.

Describe the Executive and Judicial powers of the President of India.

2PHAD eTPSHo 6%27006)58 SOEDE &) DG Htre HBoD JHBoLE.

Explain various terms associated with measuring of National Income.

DI Bok (D&E 080 Botd Xo&'sé DY 80D HHBoBOE.

Explain any two direct and two indirect taxes.

H8 1 BB a"g 0B85 HErDS $020HONS (HHOL ©oL @aﬁ&%@a DSBes TR Toen.

Note : Blind candidates have to write only notes for the questions related to Time Line

41.

Chart and Map.

1910 %009 1940 £5555°er8 Hor0§od) AT 8D TB(EE Dozedde ST ACHOA.

Draw a Time Line for any five historical events of Indian National Movement from
1910 to 1940.

[ Turn over
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42. gPEERE HE0s® BIHS (Fromred HBOS0S !
(i) SerSesgo (i) SRy (i) D@D  (iv) 2OHSTeerrh
(v) eroB

In the given India Map mark the following places :
(i) Vedaranyam (i) Jhansi (iii) Madras (iv) Jallianwalabagh

(v) Bombay
grifo - IV/PART - IV
BSOS 1 QDS (DD JSrgrdo 308, 2x8=16
Note : Answer the following questions.

43. (a) SWFILH PEPRE HOHEIS OIS ©.D.68. HE U H&oH SADod.
S
(b) mobd L WIFAHE GsErEY DHBoSOE.

(a) Estimate Periyar E.V.R’s decisive contribution to the social transformation of
Tamil Nadu.

OR
(b) Explain Gandhiji’s Civil Disobedience Movement.

Q8 1 S 8 020600 (HHH ©of 8)@568@ (‘35&3\) o) HOBE0B.
Note : Blind candidates have to write only notes for the questions related to Map.

44. (a) grBESRE OHABS H608° BDS (Frozres HBOBOE.
() o5 (3
(i) ©eIHS Fond 8BHS S
(i) oeerd 5o
(iv) & IY HBHBSTe HY
(v) grd BB (Frodo
(vi) BT 2.8 & K goo
(vil) gPBSRI0E® 223 5Fe0|3E wEorr &G o0
(vil) SES HBeD
G~
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(b) SDFE HE0S® BIHS (Frosredd HBOSE.

() Srraw 58

(i) B Ho&oB (Froseen

(ili) sP0DHTo

(iv) Sotapds wg

(v) Srd8es0

(vi) o3 8

(vii) Sr0BHE ©F SYeH

(viil) E85PoES o

(@) Mark the following places on the given Outline Map of India.
(i) Aravalli Range
(i) Alluvial soil region one
(iii) Malabar Coast
(iv) Direction of South West Monsoon
(v) Heavy rainfall region
(vi) Any one coal mining place
(vii) Most densely populated state in India
(viii) Deccan plateau
OR

[ Turn over
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(b) Mark the following places on the given Map of Tamil Nadu.
i)  River Vaigai
ii) Sugarcane growing area

iii) Kanchipuram

iv) Mettur dam

<

) Nagapattinam
vi) Anai Malai

vii) Manchester of Tamil Nadu

(
(
(
(
(
(
(
(

viii) Coromandel Coast

-00o0-
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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
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(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

&0l : DD 60106)Galo|Cl0Y moel BGOWEBUH Hene.

Note : This question paper contains four Parts.
B890o - I/PART -1
0l : (i) «gEO C2IBEIBRBNI0 OBHOODLI®EMO. 14x1=14

(i) @MIdlenimM moel HEmOE3EIEd MliMmio LBIIW HEMMO @IlEEETMSIBTTY
HOMO0 60alaUMDEHOUI0 af)PIBD:.

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. adldadulom @@alogalond caldld mdQiooky qaljemldd alomio
AJOEDOLOEQ|S 0o
(a) =domai (b)  Oady (c) engefl (d)  (anoadmy
The country which was expelled from the League of Nations for attacking Finland :

(a) Germany (b) Russia (c) Italy (d) France

2.  @codlHnlod @REIm0Qf 630a0dl Aflatenlidd A ®®d.o OB :

(@) 1929 eHHesoenId 24 (b) 1929 eGsoenId 14
() 1925 mQuoend 24 (d) 1928 mauoend 24

In America, the first huge Stock Market Crash occurred on :
(a) 24 October 1929 (b) 14 October 1929
(c) 24 November 1925 (d) 24 November 1928

)

3.  Gol@lG2ld (alAOIMEBRIOS TGN ®YS @
(S BWl@l 2] aleessiem).

(a) el@ eandEd CooMV(@ (b) e@05)eI@ HMaG)

() BUOBRIOE HMaOO) (d) lgjeow aleg@

In the Non-Aligned Movement Conference participated as the Indian
representative.

(a) Lal Bahadur Shastri (b) Motilal Nehru

(c) Jawaharlal Nehru (d) Vallabhbhai Patel

4. el dldemendlo aldatto :
(@) 1827 (b) 1829 (c) 1826 (d) 1927
Sati was abolished in the year :

(a) 1827 (b) 1829 (c) 1826 d) 1927
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@PMAIMo (A): 1857-681 Ala0O8e® ENfSlatidod @O (@MW @S]0 jmd®YS.

006mo (R) 1 803 G ((3ldhy® @oUla000ndMo nRI0EMm®mOTIoynMy alflgjalo
AlORWEQ|SOMIENSOW HOMEMO

(a) (A) @o (R) ©o 6®FO6EM.

(b) (A) emEoeM agOMO@ (R) vodl@oerny.

(©)  (A) @io (R) 9o vodloemy mo(®ng), (R) @ies vdlwo® afltodldoemmosn (A).
(d) (A) o (R) o vadl@oeny ag)mo@d, (R) @es vdlwo® afludleoemag) (A).

Assertion (A) : The Revolt of 1857 was brutally suppressed by the British Army.
Reason (R) : The failure of the rebellion was due to the absence of central authority.
(a) Both (A) and (R) are wrong.

(b)  (A) is wrong and (R) is correct.

(c) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(d) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

621030 alSl G aIRHeIH

(1) <o allgjalo i) o5

(2) oz® allgjalo (i) @9oo0vo
(3) anaim aflgjalo (i) @AM
(4)  (eruem aflgjalo (iv) Ug6ETBW
(@)  (D)-(iii), (2)-(1), (3)-(iv), (4)-(ii)

(b)  (D)-(iv), (2)-(iii), (3)-(1), (4)-(ii)

©  (M)-(v), (2)-(1), 3)-(ii), (4)-(iii)

(d)  @D)-@), 2-0v), (3)-(), (4)-(iii)

Match the following :

(1) Grey Revolution (i Egg

(2) Silver Revolution (i) Meat

(3) Red Revolution (iii) Leather

(4) Brown Revolution (iv) Fertilizers
(@)  (D)-(ii), (2)-(1), (3)-(iv), (4)-(ii)

(b)  ()-(iv), (2)-(iii), (3)-(), (4)-(ii)

(©  (D-@v), (2-(), (3)-(i), (4)-(iii)

(d)  @M)-@), 2-0v), (3)-(), (4)-(iii)

[ Turn over
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7.

10.

alvaln QflehHocETBID DMYWHE) HOdEMMIBIM® ag)floswosn ?
(@) ®adlYmos (b) eHmrg

() ater06nt (d) oaveleaud
Western disturbances cause rainfall in :

(a) Tamil Nadu (b) Kerala
(c) Punjab (d) Madhya Pradesh

200NMIMY HIBOUIlENME aR@ilaloeny ?

(@)  enuogCland (b) o ©Galosmo

(c)  BHO|d MeOAEGlouy (d) ealeEoglwo Alesanmilouy
Manganese is used in :

(a) Batteries (b) Cement Manufacturing

(c) Copper Smelting (d) Petroleum Refining

MYV BRIl EMIVOALWIBS MVoTNIMo !
(@)  ”IROO®YDY (b) ailssilo
() ©O®md (CBUY (d) @adlYmos

The state which has highest population in India :

(a) Gujarat (b)  Sikkim

(c) Uttar Pradesh (d) Tamil Nadu

aslelwllad 9BalosMETIE ®AYMOS ©6eME00 MAIMEYD) MI@ILEYM,.
(a)  oq]l (b) codlel (c) AlmnT (d) aloyEs
In India, Tamil Nadu ranks second in production.

(a) Coffee (b) Tea (c) Sugarcane (d) Cotton



11.

12.

13.

5 4978

MoMNOM MHAMEWIERIHNIRE @oCRO MMM (IGlmlWlow moamldeguo

3]

£21QIM®Y @Q6M.
(a) ©OaH(Sal®) (b)  v»IdeMd
() ool (d) olamed maflead

One representative of the Anglo-Indian Community to the State Legislative Assembly
is nominated by

(@) The President (b) The Governor

() The Chief Minister (d) The Speaker of State Legislature
O0d GDOaNM COE nsileias @REIAMT GO6IWOET).

(a) enudom - &Yy (b) 80T - e&2IM

(c) By - alddslorunod (d) enmy - emajotd

Mc-Mahon Line is a border line between

(@) Burma - India (b) India - China

(c) India - Pakistan (d) India - Nepal

OMROW (AITV®IOUM dhensiafISlde i
&l aufl afl @es (alowomyo
(a) qoMUEDHle AUSB.2l aldleniM@IM alewoulleninm.

(b) MOEMWEOQ|Bla|EWIOM®Io MIM®  21JMISOOTIOR®I0  (alWMEEBURD
al@laO@lB6)00M HalEWoUsleanimy.

() 2lOHHRIOS NIEMOIIAININM0 BREHHINIONM SalEOUIlHEIM].

(d) QUOETBEIRUINH] dBHEMBEOHEIOMD HalEROUSHEINM].
Find the incorrect statement.

Importance of GDP.

(@) Used to study the Economic Growth.

b) Used to solve problems of inflation and deflation.

(b)
(c) Used to measure the quality of goods.
(

d) Used to estimate the purchase power.

[ Turn over
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14.  €an0GIM ag)gealeal M0eMEOANM @DHS aloqOSESIW QldaHo :
(@) 1999 (b) 2019 (c) 1992 (d) 2005
Foreign Exchange Management Act was passed in the year :

@) 1999 (b) 2019 (©) 1992 (d) 2005

389Wo - II/PART - II

#0laj: ago®Blalo IO CI0GIEIBRH HODOONYI® . G.2I10Gj0 MMID 28 o
mIdenIMWAIWIo HEMOHDYIBEMO. 10x2=20

Note : Answer any ten questions. Question No. 28 is compulsory.

15.  (an6ral @IBLO®D HGla] rilevstdas) agnmclwoo ?

What do you know about Trench Warfare ?

16. aloRIQHNOIBNIONG HSMHUWD ag)OmLJOMmOlMdINMY?

What were the duties of the Palayakkarars ?

17.  BOMaland dleao Yl (EN5lat)shod OeBHAINeR|SIOTI® (@ IGBUEIBRIOS Galdihid
Q) P>

Name the territories annexed by the British under the “Doctrine of Lapse”.

18.  2a00mOM3jo DB HOBdadld: QANNIMNOD ag)stdlam eniodflaly ?

How did “Great Depression” impact the Indian Agriculture ?

19. 80T QVP@(TT) TVAEEIED @I RITVBIOHN MOBIAIME:W agO®Eo ?

What was the contribution of Annie Besant to India’s freedom struggle ?



20.

21.

22.

23.

24.

25.

26.

27.

28.

7 4978

alwalla ®lomomealesalo alldaidlo MameEglo ®moTRRs Qy@OaVo
QUBODOHE) o>

Distinguish between : Western Coastal Plains and the Eastern Coastal Plains.

EDNTYWIOS HHORIDAIMNNOD MVOUWIMlHHINM CRISHETBWD (I@TlaloGlee)idb.

List the factors affecting climate of India.

21)9efle60glay e lowl #oel0almnd alleovo aeeEODOYLI0El®WBHE) M Tldial
M@BHIMN@ ag)ETBOMQOETY ?

Before cyclone, how does the Meteorological Department warn the fishermen ?

mal$mogleal apemsslaio Mol mealwom aflallewoequs alALTI®HEIOS Galdidud
Qf) P

Name any four important multipurpose projects of Tamil Nadu.

£6a08HNOSHIWIOS WLNOAMO @OUSlH00aIBIUSl ag)nmoen ?

What is the original jurisdiction of the High Court ?

alemiudlel ®emelon mdNTldegud: OBITBRD alSldbea|SIOmid.

List the guiding principles of Panchsheel.

mal$mogleal apemsslalio MOal Galdatd0a000 alBLBIHEIONS Cal®idhUd ag)PI®id:.

Write any four names of Nutrition Programmes in Tamil Nadu.

®al¥mogleal aloaIMORIBHQIBHNMETIEN (IWMEBW ag)e®ejoo ?

What are the problems of Industrialisation in Tamil Nadu ?

OSOQIOR!l dhjaflo® #dla] 80y 2103 ®iGla] ®YOOILOID.

Write a short note on ‘“Terrace Farming’.

[ Turn over
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89wo - III/PART - III

0laj: ago@Blaljo alE GoI0GIEIBRHH HODOONYI® . G.210Gj0 MMID 42 o
mIdenIMLAIWIo HEMOHDYIBEMO. 10x5=50

Note : Answer any ten questions. Question No. 42 is compulsory.

29. &Moo GRIHMANIWIALETIONM (IWIM HIVEMETBUWD 2ldo) 6).0IQ)id:.

Discuss the main causes of the First World War.

30. ©6N300 GRIOHMANOWIALEHIOM @OMMNOANLIETBWRD afOmLjoo ?

What are the effects of World War II ?

31. W(@H68 oniawWlaniam (alwwmemsainod] miqweals 19-00 migoemsleeal
al@la¥e0emUOGIH0 Qladla] alsslom &)Cla] &) eleal) (alnIMWo MQOOIHE) ).

Write an essay on the role played by the 19t Century reformers towards the cause of
women.

32. 1806-02! ©QIQJId Heldalo Haldglajioeqls®lom @idla] alleiloymmd.

Account for the outbreak of Vellore Revolt in 1806.

33. @al¥moglad qujeBudl (lmadm@BIn AIEle (I@le0eme®TD d:iGla) 2100 6).01Q))d:.

Discuss the response to Swadeshi Movement in Tamil Nadu.

34. MO aldQ® coalelidleal Alaflamithes ®iGlallo @AIYHE ONTQlenes
(I0WIMIOED dlojio AllGoC]d@leeid:.

Explain the Divisions of Northern Mountains and its importance to India.



35.

36.

37.

38.

39.

40.
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oayleal ope®sleljo @oeR oo QMNIHO8  BHiClallo @EPAUIWIOS
mjEoALMAfEUas®mHMW, All®esmo a)MIIOH® &:Glajio AlltdEldEles .

State any five types of soil in India and explain its characteristics and distribution.

mal$modlenl emose o &Gla] Aflltoledles .

Explain the plantation farming of Tamil Nadu.

DT BOEMALISM@AOS AVY(IWOM V@O MVANEUAHU®HGD ANl H .

Explain the salient features of the Constitution of India.

EDNTYM MK (SaIBIWIOS af)fslausial, eiaulayy@ @oUle:06mmB0 QlltoEMOBE d:.

Describe the Executive and Judicial powers of the President of India.

ERUIQ QIRIMOMO dEMENIHHIM@INOW niTweals dleiafllenes aflaflw aleerdd
QMVTEI NG EI S

Explain various terms associated with measuring of National Income.

apo®sleno g (Al Nl )@He8s0)01 2o ©ME alGOhH
eyl 68860351 2j30 AflvoEld:@le6)ids.

Explain any two direct and two indirect taxes.

[ Turn over
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#0laf: MVOWEEAI0D  210B5lo @JalSamO®]  MITWeQ|S  G2l0G|EBWHE
$H0Y21066UMHLYMER o ICHHARMAHWD HiGlafidbtd ag)LIElodd awf.

Note : Blind candidates have to write only notes for the questions related to Time Line
Chart and Map.

41. 1910 oy@@d 1940 QeO® MY ERUI® (aIMOdm 2Idl@ETIOa afomeslallo @oeml
(IWOM MOBALETBUD EHID@TIEMHE] 630) MNWEDEU BQOOIHE >

Draw a Time Line for any five historical events of Indian National Movement from
1910 to 1940.

42. ®MIAIHOIM HOIWIOS BJalSEBIT ®IOY HHISIOWMICIHOHIMM qUNLIEHSUD
@OSWOROQ|SIOTD >

(i) eaIBOMEMio (i) @wondmil (i) o@EoMmy
(iv) eoellad aIoald 6oy (v) @entooeent

In the given India Map mark the following places :

(i) Vedaranyam (i) Jhansi (iii) Madras
(iv) Jallianwalabagh (v) Bombay

8o - IV/PART - IV

&0laj: 69 OBISIOTIASHIM G2 I0GIEIBRHE) HOTOEIDPI®)bb. 2x8=16

Note : Answer the following questions.

43. (a) ®alY MoSled Modia0y alBlUBEDHMOTI@ Oalcl@od . all. edlen
Y (IWOM MRIAUMEHUD LIRS @S )b,

@6 ;1M

(b)  wonlglies milalld Mloa elocalm oo ANvdEld:@lEe)id.

(a) Estimate Periyar E.V.R’s decisive contribution to the social transformation of
Tamil Nadu.

OR

(b) Explain Gandhiji’s Civil Disobedience Movement.



&)0la] :

Note :

44.

11 4978

@alsQ@o®]  MIMWeQ]S C2l0GIEIBWEE  HIY2ld  ©eQHRDI8R
alBlHOdMAlHRD HSlaidb(d )Pl @osd o).

Blind candidates have to write only notes for the questions related to Map.

®IdlenimM MMM clalsamland dlalcoaldld@ ®oey ®aldleniom
OLIETBID EOSWOREQ|SIBD .

() @oalg]l ald®alodhud
(i) 60) afBO@ (aIGBUo
(i) oelen1od oo
(iv) O®HE) alSleTmOOM HIRIAIRdUETOG v
(V) oSSO0 DPQINBOHIMN CO6A
(Vi) o@e®m®IRo B0 HBLOO UMM (A IGBUIo
(vii) DM@ aBROIOWldho EMIVO(MBOWIBR MVoNIMo
(viil) 606 aflodyall
@R 81 @D

®MAlHHIM MAYMoSIOn BlalsOBI@ ®oeY ®OTIGlHHIM MOLlEs3D
@OSWOROQ|SIOTD ) >

i) e mdl

(i) AT dyadl WOVOSMIEE CoEL
(iii) oeflalioo

(iv) a5 oo

(V)  mMOWalgemo

(vi) @emomeal

(vii) @al$mosian moemiand

(viii) ©)#HOOMIEMLE @00

[ Turn over
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(a) Mark the following places on the given Outline Map of India.
i)  Aravalli Range

ii)  Alluvial soil region one

iii) Malabar Coast

iv) Direction of South West Monsoon

<

(
(
(
(
(v) Heavy rainfall region
(vi) Any one coal mining place
(vii) Most densely populated state in India
(viii) Deccan plateau

OR
(b) Mark the following places on the given Map of Tamil Nadu.
i)  River Vaigai
ii) Sugarcane growing area
iii) Kanchipuram

iv) Mettur dam

<

) Nagapattinam
vi) Anai Malai

vii) Manchester of Tamil Nadu

(
(
(
(
(
(
(
(

viii) Coromandel Coast

-00o0-



No. of Printed Pages : 12 4979

LT

Register Number

Part - 111
pstweroted @m@ / SOCIAL SCIENCE

(3IZ DB QONFT oT0o8T / Kannada & English Version)

0

FIOD @ 3.00 RoEIND | [ Eo=R[H @ozngd : 100
Time Allowed : 3.00 Hours | [ Maximum Marks : 100
TRWIND : (1) @5@@@% BNTED ﬁzswmﬂdofm QOT mééw@%@@% WOTD W @%3053@

DTTTR ERTE AGY STroSe 3R B0ewETION SV

(2) VT WIONLD W) VBT HFODLD VD WPT T, TS0, WA
ToMR BT ENYT, TWILD TR WERO.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

Zous 1 3 TIBFOI T, RAATR, BROHT.

DN D
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eon - I /PART -1

TRWN i AR TJ MY, LSO, 14x1=14
) & O] L )

(i) B Tows BODMTY BOCIHE YWITH, BOR T, VTS SORCD FRCTER,
20800 DB VTT WIPROETOT m:ﬁdwm& 223000,

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1.

QT ROT S e 380D SRAFFN den” B IeBTROT BHTTOILIT T3 :
(@) =IWED (b) T () aud (d) T

The country which was expelled from the League of Nations for attacking Finland :

(a) Germany (b) Russia (c) Italy (d) France

WROTTY, BRTO Z0e 3¢ [TRTVFE, VAT BOLIDAT,
(@) 24 w3RewT, 1929 (b) 14 w3peT, 1929
() 24 8BowoTe, 1925 d) 24 SBowo*, 1928

In America, the first huge Stock Market Crash occurred on :

(a) 24 October 1929 (b) 14 October 1929

(c) 24 November 1925 (d) 24 November 1928

BOT BWTY (ST -VIT [0HoE) 0 [IoDY g5008e0 TEIHOITON
PONBEATITO.

(a) RS WITRT A (b) VpecdRe® IZT

(€) BRI IBI (d) TYFLFW Jedee*

In the Non-Aligned Movement Conference participated as the Indian
representative.

(a) Lal Bahadur Shastri (b) Motilal Nehru

(c) Jawaharlal Nehru (d) Vallabhbhai Patel

8 (55@@) oD, B VIRFTY THTRITVOWD :
(@) 1827 (b) 1829 (c) 1826 (d) 1927
Sati was abolished in the year :

(a) 1827 (b) 1829 (c) 1826 d) 1927
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BDPES (A) : 1857 T T3orioDd, VR BZ00T wvnRmen BETLROW.

53 (R) : Be0QL0D THTTT @&bﬁ%%oﬁm BoRod FFOZ FoT0TONTY.
(@) (A) B (R) 20TR I,

(b) (A) o3 X DB (R) BOOIWNT.

(©) (A) DB, (R) 2TBR FOOIWNAE 0B (R), (A) 0 ROOIPT DWTFBOIWNT.
(d) (A) B (R) TR BOC3RNS ST (R), (A) 0 BOOIRT DB[THBODY.
Assertion (A) : The Revolt of 1857 was brutally suppressed by the British Army.
Reason (R) : The failure of the rebellion was due to the absence of central authority.
(a) Both (A) and (R) are wrong.

(b) (A) is wrong and (R) is correct.

(c) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(d) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

$UNIRTR, BRODY :

(1) e 308 (i) Rl

(2) 59 o3 (i) Swo%

(3) 3o 08 (i) °3=F

(4) 3o TOS (iv) oEReDRW
(@  (D)-t), (2)-@) (3)-(v), (4)-(i)

(b)  (1)-(@v), (2)-(iid), 3)-(), (4)-(ii)

(©  (D)-@v), -(), (3)-(iD), (4)-(ii)

(d)  (D)-G), 2)-@v), 3)-0), (4)-(ii)

Match the following :

(1) Grey Revolution (i Egg

(2) Silver Revolution (i) Meat

(3) Red Revolution (iii) Leather
(4) Brown Revolution (iv) Fertilizers
(@)  (D-(ii), 2)-G), B)-(iv), @)-(i)

(b)  (D-(iv), )-(iid), B)-(), @)-(i)

(©)  (D)-@v), -(), (3)-(iD), (4)-(ii)

(d) (D)D), (2)-(v), (3)-(0), (4)-(iid)

[ Turn over
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10.

4

mmsé VRIBALD AY N @d:@mmgﬁ :

IS
(@) BT (b) Beowo
(c) oo (d) =T, B3e3
Western disturbances cause rainfall in :
(a) Tamil Nadu (b) Kerala
(c) Punjab (d) Madhya Pradesh

méomw 2aQ m@ommgcs :

(a) eLONYY (b) Aot BTBIODNY

() T FTMLRTONY (d) Heipedobo BOFTBODY
Manganese is used in :

(a) Batteries (b) Cement Manufacturing
(c) Copper Smelting (d) Petroleum Refining

PR0ITY wée T, BITOLLNIT TOBID)
(a) TORTOT® (b) A30
(c) V2T I3 (d) SBR%ZW

The state which has highest population in India :

(a) Gujarat (b)  Sikkim

(c) Uttar Pradesh (d) Tamil Nadu

ZOTBTY, BT QTVTIONY RTEIOH FYITYT.
(@) Boe (b) B¥3® (© 3B (d)
In India, Tamil Nadu ranks second in production.

(a) Coffee (b) Tea (c) Sugarcane (d)

Cotton



11.

12.

13.

5 4979

Do, TOWTOON PR soRRe-0E0D TINTONT 2.2) TEODI,
00T ToATIeF dFTRMTT.

(a) TS (b) TORITHOT
(c) 0 W0 (d) oo, DTOTHLIOD XeTT”

One representative of the Anglo-Indian Community to the State Legislative Assembly
is nominated by

(@) The President (b) The Governor

() The Chief Minister (d) The Speaker of State Legislature
mf—mma" Sea3odn ne IS NR Tea3o3NT.

(a) IF - T (b) T - B

(c) %908 — s (d) o303 - JezY

Mc-Mahon Line is a border line between

(a) Burma - India (b) India - China

(c) India - Pakistan (d) India - Nepal

BOOPYT TePTODTY, TOWLROWD.

GDP o s@0Dg -

(@) SHFT BITEROD VPONTE WEBLRMIT.

(b) TETYT HBY BEVTNYTNPING ATDZNTR, WRTORLD IR,
(c) ROBNT MBI, WTONLD WIBRMITT.

(d) 200D FFONTY, WOTOBHLY WHBLRIMTT.

Find the incorrect statement.

Importance of GDP.

(a) Used to study the Economic Growth.

b) Used to solve problems of inflation and deflation.

(
(c) Used to measure the quality of goods.
(

d) Used to estimate the purchase power.

[ Turn over
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14.

DTS DITVOD JTEBED FOONTOND, 88 IRFTY WORRYITOONID :

(@) 1999 (b) 2019 () 1992 (d)
Foreign Exchange Management Act was passed in the year :

@) 1999 (b) 2019 (©) 1992 (d)

@en - II/PART - II

BeEN 1 CIRPYTTR T, IFNEI, Y0B0A. TIJ, F0J, 28 FEYOPTNT.

Note

15.

16.

17.

18.

19.

: Answer any ten questions. Question No. 28 is compulsory.

8025 BOMOERT Wi} VeeD SYTERORHEO ?

What do you know about Trench Warfare ?

m@oﬁa@dd %3?5671%30 SRR ?

What were the duties of the Palayakkarars ?

“Tod e BT T I BDRODY DLIRO0T THCIDRBRABROT TSNS, BIOA.
< 8~ > D s < 2

2005

2005

Name the territories annexed by the British under the “Doctrine of Lapse”.

gR03eCd FHOD Fed TRl 935%50333” Jen Tegows Wedd ?

How did “Great Depression” impact the Indian Agriculture ?

PO0ST TYBOT,, BHCTVLE WA, WROLFT FRWR O 7

What was the contribution of Annie Besant to India’s freedom struggle ?

10x2=20



20.

21.

22.

23.

24.

25.

26.

27.

28.

7 4979

QNG IWDW BIVOWA : THID FTIRY WONLONE B TRTE TTOHY W ODLONS.

Distinguish between : Western Coastal Plains and the Eastern Coastal Plains.

50033 5@5&35%& TOFOR LETVT WOBNTR, Tes, JPE&.

List the factors affecting climate of India.

BOBRIRTVTT RTLY, CCTOMOTON Twowioms QTN Jen @zia% QETDIT ?

Before cyclone, how does the Meteorological Department warn the fishermen ?

BLNWTIRT CIWRTOTBTR TOLY, TFWNED QTIRCTI T CIRETINTDY, BAOR.

Name any four important multipurpose projects of Tamil Nadu.

wzﬁw méofmeoﬁazs R méodamééi OSRRT ?

What is the original jurisdiction of the High Court ?

WOWHCOT BINFTEE 3;@@;@& mg =08,

List the guiding principles of Panchsheel.

BNHTORTY LRCRT FoONF BONY 030)TOTETR SDISM) THDNGI, 2TWO.

Write any four names of Nutrition Programmes in Tamil Nadu.

INDTATY FROEITRT TAD SRIH) ?

What are the problems of Industrialisation in Tamil Nadu ?

306" OFOMT (F&) S Ny AeY T8 22T0W0.

Write a short note on ‘“Terrace Farming’.

[ Turn over
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won - III/PART - III

BRBT ¢ SRYTRTTR I @%ﬂ%ﬂmol SUZBOR. @% So&% 42 3THYOPTRNT. 10x5=50
Note : Answer any ten questions. Question No. 42 is compulsory.
29. [RTO I 0INTFT W00, TTLNRTI, BFA.

30.

31.

32.

33.

Discuss the main causes of the First World War.

QTTIe é)%ofmz%cﬁ TOTOBING OSRR)w) ?

What are the effects of World War II ?

B&WIODNT B0 193¢ ITIPTT BTOTTRFTOTIL AR LAT TOTH N, T O 2TOUW.

Write an essay on the role played by the 19t Century reformers towards the cause of
women.

1806 5P ﬁu@pe TOROD ﬂ%@@scﬁ aorﬁ\ 2230200,

Account for the outbreak of Vellore Revolt in 1806.

BNDTATY IFed BARTBOT BIFOONT, WUFA.

Discuss the response to Swadeshi Movement in Tamil Nadu.



34.

35.

36.

37.

38.

39.

40.

9 4979
Eﬂ)édtﬁ eI @mm@m‘% m@g &Todé% ORNG @m&%éofb&bel WO,

Explain the Divisions of Northern Mountains and its importance to India.

mde‘cﬁ@ﬁ O3TOR)TOTTR 0T 2RO msgmel &9 m@g Clnle] rbsa@?d\saﬁ%fmol m@g
502&%0335301 WO

State any five types of soil in India and explain its characteristics and distribution.

BNNTORT é’x@e@m@éojamol QDTOA.

Explain the plantation farming of Tamil Nadu.

R03T BONTOIT TWND VFENTDZY, DWOX.

Explain the salient features of the Constitution of India.

P03 TUFTEOD THONFAWOF BT :ITY TY0IPONEOD WHTTJIY, VIWOR.

Describe the Executive and Judicial powers of the President of India.

m%@oﬁa STPONT WTBOIRODN FOWORIT TOFY WOBNYIZY, DWOX.

Explain various terms associated with measuring of National Income.

O3DPYTIOTTIR DT 3eT HBY PTHE TTREF SORNTI), L[OX.
Explain any two direct and two indirect taxes.

[ Turn over



Note

41.

42.

10

©VOT VPHFNH FTDOD Bead moErs &) mm%& FOWORNAT ag%r?@ﬁ wwweéﬁ@m%

398, wBonLIe.

Blind candidates have to write only notes for the questions related to Time Line

Chart and Map.

1910003 1940 T oTEeOD m%eoda BHHTVOD 0INR)TOTTR VW DETOAT T3NS
RTOD Te3oDI, WSA.

Draw a Time Line for any five historical events of Indian National Movement from
1910 to 1940.

808, GO0 FRTUTY 3UNT FIRYaD, HS -

(@)
(v)

BegeseR0 (i) D (i) =TA  (iv)

230023

In the given India Map mark the following places :

(@)
(v)

DR

Note

43.

Vedaranyam (i) Jhansi (iii) Madras (iv)
Bombay

%on - IV/PART - IV
$9NT TR, W0IOR.

Answer the following questions.

OSSO DVLIONY

Jallianwalabagh

2x8=16

BNWTORT TOTIVRT VOWBEIN OO0INVT® A.R.G3T°. T FBoFONT &raz&rﬁofo:moz

HOTIVRA.
[Slofvo

MROQCWONTT FORO—LRTZTOT a':%e;ow@‘?ofnabol DWOA.

Estimate Periyar E.V.R’s decisive contribution to the social transformation of

Tamil Nadu.
OR

Explain Gandhiji’s Civil Disobedience Movement.



BRWT :

Note :

44.

B0 WPHF

11

)

Blind candidates have to write only notes for the questions related to Map.

B
ed

@)
(i)

0BT SadTess TToH e FENT AR, TSR,
WooRY 3eed

2,07 WLRNONS Weay TI3eT

TOWOT® BFTORY

SO0, TPRTT OR

e B, WTWEDT TeS

IPRYTTTR 2,000 FYTELD Nedmw0d F¢

$o08TY ézé% BIVWWT To,

Slotnn)

$m4 DRI FHOH SecS FINT WRAYR, OB

(vii)

(viii)

desmosf ®)
Gw% 238030T JOOD
Fo0WZTNTO

TDUWRTT BT
ed ed

INDTAT BROBIT

3RETROBE” TTORY (BRCF’)

N PRTWE FoWOoRAT IFNRR LBEIoDZ, B wToDle.

4979
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(a) Mark the following places on the given Outline Map of India.
i)  Aravalli Range

ii)  Alluvial soil region one

iii) Malabar Coast

iv) Direction of South West Monsoon

<

(
(
(
(
(v) Heavy rainfall region
(vi) Any one coal mining place
(vii) Most densely populated state in India
(viii) Deccan plateau

OR
(b) Mark the following places on the given Map of Tamil Nadu.
i)  River Vaigai
ii) Sugarcane growing area
iii) Kanchipuram

iv) Mettur dam

<

) Nagapattinam
vi) Anai Malai

vii) Manchester of Tamil Nadu

(
(
(
(
(
(
(
(

viii) Coromandel Coast

-00o0-



No. of Printed Pages : 12 4981

Register Number

Part - I11
SOCIAL SCIENCE / a@gkﬁ'

(Urdu & English Version / g\J¢ zfmw )

&:3.00 =% ] [100: /5L
Time Allowed : 3.00 Hours | [ Maximum Marks : 100

WIS e Pt SN G S i L3Sl (1) el
L L i Bsmd L5 Sl S kdemlE @)

Instructions : (1) Check the question paper for fairness of printing. If there is any lack
of fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

AR el el
Note : This question paper contains four Parts.
PART -1 /I- &
14x1=14 Szl (i) oS

_& iz B FE R Sunre S e L L (i)
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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2
: l;’/g@/lécfﬁf_jiﬂq?&uau ),»J,L"{/‘e;’ u’
S @) S @© G (b) &7 (@

The country which was expelled from the League of Nations for attacking Finland :

(a) Germany (b) Russia (c) Italy (d) France

L C e At § e S (L

1929114 (b) 192941224 (a)
1928 #4924  (d) 1925 424  (c)

In America, the first huge Stock Market Crash occurred on :

(a) 24 October 1929 (b) 14 October 1929
(c) 24 November 1925 (d) 24 November 1928
_J:/’?uﬁlu(}l?/)ﬁw#é_ uﬁu’J/‘Kd/u{f“;JUL
sJuds (b) S Coledy  (a)
Siduds (@) iz (©
In the Non-Aligned Movement Conference participated as the Indian
representative.
(a) Lal Bahadur Shastri (b) Motilal Nehru
(c) Jawaharlal Nehru (d) Vallabhbhai Patel
I Ju 2LEE
1927  (d) 1826 () 1829  (b) 1827  (a)

Sati was abolished in the year :

(a) 1827 (b) 1829 (c) 1826 d) 1927



3 4981

Wbl iy A eand 1857 1 (A) §H 5
Eorr BB adSK et (R) 2
~Jrk (R) o (A) Usv  (a)
& Ry Atk (A) ()
e G () «R) #IE ®) 4 () U (©
e sl (A) (®R) 4 2E ®) 4 (A) U (d)

Assertion (A) : The Revolt of 1857 was brutally suppressed by the British Army.
Reason (R) : The failure of the rebellion was due to the absence of central authority.
(a) Both (A) and (R) are wrong.

b) (A) is wrong and (R) is correct.

c) Both (A) and (R) are correct and (R) is the correct explanation of (A).

d) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(
(
(

e is 6

() SIS )
= (i) <3P @
% (i) W, ()
S (i) —Wig (4
(i1)-(4), (iv)-©), (1-(2), (ii)-(1) (@)
(i1)-(4), ()-C), (iii)-2), (iv)-(1)  (b)
(ii)-(4), (iD)-@), (©)-2), (v)-1)  (9)
(iiD)-(4), (0)-G), (iv)-(2), ()-(1)  (d)
Match the following :
(1) Grey Revolution (i Egg
(2) Silver Revolution (i) Meat
(3) Red Revolution (iii) Leather
(4) Brown Revolution (iv) Fertilizers
(@)  (1)-(), (2)-() (3)-(v), (4)-(i)
(b)  (1)-(v), (D)-(itd), (3)-(), (4)-(ii)
(©)  (1)-@v), @-(), (3)-(iD), (4)-(ii)
(d)  (@)-G), 2)-v), 3)-0), (4)-(ii)

[ gl}“’ / Turn over



L e Al Ui
s (b) Sttt ()
VFsges (d) Sl (©
Western disturbances cause rainfall in :

(a) Tamil Nadu (b) Kerala
(c) Punjab (d) Madhya Pradesh

—e b J(z?‘“!{f@
erfer (b) ULE (@)
S @) LMLl E (o
Manganese is used in :

(a) Batteries (b) Cement Manufacturing

(c) Copper Smelting (d) Petroleum Refining

te u&zdbé;d; (Tosl i or s skt

“ o) =f @
St (d) Juggl ()

The state which has highest population in India :

(a) Gujarat (b)  Sikkim
(c) Uttar Pradesh (d) Tamil Nadu
-c‘_/?/;/»uﬁ/uu,?& St s
vy (0 ) 3¢ ()
In India, Tamil Nadu ranks second in production.

(a) Coffee (b) Tea (c) Sugarcane (d) Cotton

10



5
By P iUl Gy i d L ST GL
2 (b) <ihdy  (a)

BFUE (@) & (9

One representative of the Anglo-Indian Community to the State Legislative
Assembly is nominated by

(@) The President (b) The Governor
() The Chief Minister (d) The Speaker of State Legislature
_4"_M/£>'uywcﬁ L‘jﬂdf}"vg

e - b (b) Wbk -ls (a)
JiF - s (d) ol - Ul (o)

Mc-Mahon Line is a border line between .

(a) Burma - India (b) India - China

(c) India - Pakistan (d) India - Nepal

2o Skl

4§ GDP

ce 1L LI L 55 ()

e Qe L L SFLJ L s binpr (b)
e S L P Sl ()

ce QUL L bk s d (d)

Find the incorrect statement.

Importance of GDP.

(@) Used to study the Economic Growth.

(b)  Used to solve problems of inflation and deflation.
(c) Used to measure the quality of goods.
(

d) Used to estimate the purchase power.

[ glj" / Turn over
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gLt Ju ok w,mu,g»f,f
2005 (d) 1992 (o) 2019 (b) 1999  (a)
Foreign Exchange Management Act was passed in the year :

(a) 1999 (b) 2019 © 1992 (d) 2005

PART-1I/11-&4{

10x2=20 —c 0 28 A il trnds
Note : Answer any ten questions. Question No. 28 is compulsory.

¢ U A Lot

What do you know about Trench Warfare ?

v & ALY,

What were the duties of the Palayakkarars ?

_ et L PSS eI GOT P e s L (YIS

Name the territories annexed by the British under the “Doctrine of Lapse”.

¢ 1 ALK s s

How did “Great Depression”” impact the Indian Agriculture ?

¢ el s Uit Gl e ST

What was the contribution of Annie Besant to India’s freedom struggle ?

14

15

16

a7

18

19
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PG ubg«U’Vd/"’ &G 20

Distinguish between : Western Coastal Plains and the Eastern Coastal Plains.

_EE e pe N D L TS 2

List the factors affecting climate of India.

¢ A AL S e e gL 2

Before cyclone, how does the Meteorological Department warn the fishermen ?

el s e e 23

Name any four important multipurpose projects of Tamil Nadu.

¢ KSR 3L 24

What is the original jurisdiction of the High Court ?

e berdlute Wil G 25
List the guiding principles of Panchsheel.

el s Qe st 26

Write any four names of Nutrition Programmes in Tamil Nadu.

¢ USSPl st e 27

What are the problems of Industrialisation in Tamil Nadu ?

N TR T

Write a short note on ‘“Terrace Farming’.

[ gl}“’ / Turn over



4981 8

PART-III/IIl-2{

10x5=50 —e a2 A Szl et s
Note : Answer any ten questions. Question No. 42 is compulsory.

_é&i{agﬁﬁﬂ’d:@(jwﬁ

Discuss the main causes of the First World War.

¢ an/g!}!géu@,dud/»

What are the effects of World War II ?

-&%ﬂ.,g/?w:g@uuz‘gui‘” Lsun s 19 L L6 J18

Write an essay on the role played by the 19t Century reformers towards the cause of
women.

“Eule 6T b ks S 1806

Account for the outbreak of Vellore Revolt in 1806.

_éﬁ:ﬁ.{u'l <Junuﬁfv{fu?.»’uf;5td'lﬁ’

Discuss the response to Swadeshi Movement in Tamil Nadu.

29

30

31

32

33
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B A et S L orsen Sy S 34

Explain the Divisions of Northern Mountains and its importance to India.

Y ek S U B byt 35

State any five types of soil in India and explain its characteristics and distribution.

_EE ot 36

Explain the plantation farming of Tamil Nadu.

_éé”?ngﬁuWJw% 37

Explain the salient features of the Constitution of India.

_E el et e 38

Describe the Executive and Judicial powers of the President of India.

‘éwwﬁd/obﬂk"ﬁg?cfgd/&xfd} 39

Explain various terms associated with measuring of National Income.

- é C/U/urg.:/ 1/ DTIICZIY J/ 40

Explain any two direct and two indirect taxes.

[ gl}“’ / Turn over
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_ufﬁ @)Lﬁ'/cjné c«Ul}’JW L:jjj}’bdﬂ}/ e fa el

Note : Blind candidates have to write only notes for the questions related to Time Line
Chart and Map.

“ZE LG e G BV L A8 3 airind 1940 <1910

Draw a Time Line for any five historical events of Indian National Movement from
1910 to 1940.

: é(ﬂ)u@&oh@d}w u:ﬂ;éﬂluvméé;
Ul (iii) S (i) Ak (D)
& W Lok (iv)
In the given India Map mark the following places :
(i) Vedaranyam  (ii) Jhansi (iii) Madras (iv) Jallianwalabagh

(v) Bombay

PART-IV/IV-a.l

2x8=16 LI YA TY SIONE

Note : Answer the following questions.

e el sl EVR Gt ()
4
S CHSLASAAIASSEEE (b)

(a) Estimate Periyar E.V.R’s decisive contribution to the social transformation of
Tamil Nadu.
OR

(b) Explain Gandhiji’s Civil Disobedience Movement.

41

42

43



11 4981

2x8=16 -w.”@«]d/ofniaUlyygﬂ;by’pfca/w c Ly
Note : Blind candidates have to write only notes for the questions related to Map.

L 2 Bule b Sieat b Lyt () 44
dabbd (i)

S LSV (i)

AL (i)

ol Fe (iv)

SREASE (V)

USO8, (vi)
e\ T 2o Sutass (vid)

S8 (widi)

e

LB GBS s, S L L e L (b)
sedgdn )

Skl Lz 81 (i)

pgj;b/ (iii)

Fiud (iv)

A W)

duder i)

SRS (vii)

Jaerd P (viii)

[ gl}“’ / Turn over
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(a) Mark the following places on the given Outline Map of India.
i)  Aravalli Range

ii)  Alluvial soil region one

iii) Malabar Coast

iv) Direction of South West Monsoon

<

(
(
(
(
(v) Heavy rainfall region
(vi) Any one coal mining place
(vii) Most densely populated state in India
(viii) Deccan plateau

OR
(b) Mark the following places on the given Map of Tamil Nadu.
i)  River Vaigai
ii) Sugarcane growing area
iii) Kanchipuram

iv) Mettur dam

<

) Nagapattinam
vi) Anai Malai

vii) Manchester of Tamil Nadu

(
(
(
(
(
(
(
(

viii) Coromandel Coast

-00o0-



	4976 Tam+Eng Social Science
	4977 Tel+Eng Social Science
	4978 Mal+Eng Social Science
	4979 Kan+Eng Social Science
	4981 Urdu+Eng Social Science

